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40 50 15
500 10
1000 500 20
30

40 2 69 5 13(21) 2(7)
40 10 25 % 10 4( 6) o( 2)
40 15 25 71 5 12(21) (.7
45 25 92 10 2( 6) 0( 2)
45 10 25 83 8 10(12) 0( 4)
45 15 2 8 9 8( 9 0( 3)

50 25 1o% - -

50 10 25 12% - -

50 15 25 12* - -
2 46 1 19(33) 1(i1)
25 73 7 4(15) 1(°5)
40 2 9% 1 3( 3) (1)
40 10 25 % 11 3( 3) 0( 1)
40 15 25 88 9 0(.9) 0( 3)

45 25 100 i2 - -
45 10 25 9 10 5( 6) 2( 2)
45 15 2 % 11 2(.3) 101

50 25 1% - -

50 10 25 12% - -

50 15 25 12% - -
2 54 2 14(30) 1(10

2 100 12 - -

X % 100
1000
21
Q) ) Q)
500
1 20 100 25 100 33 0 1(42)
20 100 25 100 74 35 -
10 50 10 100 25 100 38 0 0(15)
10 100 25 100 80 60 -
s x x x 100
28

(@) (@) (

20 100 25 100 25 0

20
20 100 25 100 36 0
20
20 100 25 100 66 20
1) > X X x 100
2)



